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Paper : ECO-HC-5016
( Indian Economy—I )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
oS frl e e fory

fa) Which State has the highest literacy
rate according to the 2011 Census

of India?
R0y B (FIREE TP ST (T
9 STl 214 e 2
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|
b | (3)
|

Write o feature of Indian E : . L
(b) Des > COROmY: () Write one obstacle or constraint of

O] SAfeg 9o ¢IfFes foran | \ economic development in India.
: SIeq SAfeF THIWT GOT 14T 1 (99 [y

Ty foram |

() Write the name of the fast growing

sector of India after 1991 economic / /’l,» *E'“"""J}?'P\
reforms. / | A Ji 17;\4\\ () Define sustainable development.
355> R WHART WFRT v SR < ol 2T S K i |
woe1d RErt @ 2efia a1 fora | P /
(@R Whatiis. disghibedline o et N __t;..—» .~ 2. Answer the following questions very briefly 2:)< S8
A e 7 2 ©eTo ] LIRS 5iF TeT o
() What is meant by poverty line? (@) Mention two reasons for low savings
in India.
wREe S 9
e 7 o SRS R e o FRT S
Writ
l1J] e the full name of NITI Aayog. (p) Point out two important causes for
NITI Aayog< ST ACHT fordT | regional disparity in India.
: AT ST SR o1 T TCE T4 |
(9) Mentlon. one factor responsible for
€conomic inequality in India. (c) What is absolute and relative poverty?
SRS ST SRR @bt w1 Brme 7 | sy S e Wi 2
(h) What is ‘demographic dividend* (d) Mention two reasons for unemployment
SR ST 3 2 in India.
e fARER o1 PR A 90|
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(4) (S)

(d) Write briefly the features of Indian

(e) Mention two poverty alleviation
economy at the time of Independence.

programmes introduced recently in

India. FRTOR RS SRe WYY ([IFEPHR tT
SRES CTREIS e 1 T3 TRTS! T Risal
SRS A SCE I (e) Discuss briefly the government
measures to reduce unemployment
3. Answer any four of the following problem.
questions briefly : 5x4=20 @ TP TIER R AP A=A
oo fil 2P R I SIRe bt T R AP R T S 391 |
| () Write about occupational distribution
(a) Write briefly about the measures to .o % of India.
mitigate climate changes in India. N / SReq TS s R SCaoa 747 |
R R B
feran 1 4. Answer any four from the following
() Discuss briefly about the problems of ;1:1;:1;%@3 LA @mmﬁﬁn%@aﬁmtox‘hd@

higher education in India.
(a) Discuss the main features of Indian

SHAER Gk SRSl
gw::ﬁ FEPTPTRS economy after Economic Reforms, 1991.
355 5 YT TR AT SRon wYRifeq
() Write about the major initiatives of T 3 ey
t of India in the health « .
the Government of India 1 (b) “Population growth is the cause and
sector. hindrance of economic development.”
S 5129 991 TS BT m e Discuss.
B | ‘TR e SRS TR IR W
41”7 HICEAD] 91 |
( Continued ) A25/94 ( Turn Over )
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(6)

(c) Explain the demographic features of
Indian economy according to the
2011 Census.

03 T TR PR SRed S PRN
IPBIAR T 10

(d) Explain the trend of savings and
investment in India. Discuss the role
of savings in capital formation in

India. 5+5=10

SR A9 W RN q@ s m
SIRCEET | 4 510T® T ST Sl

BN

(e) Discuss the goal of National Education
Policy, 2020 of India.
oeq 2w P A, 0303 TR I
e 41

(/ What are the causes of income
inequality in India? Explain.
oReq T R FRPRR & o amm
411

(g) Explain about structural changes that
have occurred in India during plan
periods.

ARFTA  TRCRR® OROS (@l Sfere
A4S R T SR |

A25/94 ( Continued )

(7)

(h) Make a comparative study of
economic growth of India with the
economy of China, Pakistan and

Bangladesh.
sRed wAfes RFrm o B, «em e
JIECPR 961 PoFREre I SASRCeT |

* &
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Paper : ECO-HC-5026
( Development Economics-I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following : 1x10=10

oS TR e

fa) Define natural growth rate.

T RerR =7 s g |

(b) Mention one difference between
economic growth and development.

TfAfes Rer oF Sme SR @61 A
Ty #4901
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(c)

(d)

(e)

(g

(R)

A25/219

(2)

Give one example of government failure.

539191 fAweror 9Bl Trreae e |

Mention one characteristic of poverty.

wRyeR 9o1 ¢af¥Er S T4 |

Define technical progress.
TS Tafed ke o |
Mention one difference between Harrod

and Domer model of economic growth.

@G G GARY SdAfes Rer S o
sf1efey Sead 91 |

What is relative poverty?

i wiager 2

Write one factor that affect economic
growth.

mﬁmﬁﬂf@ﬂmmcwmqﬁwmt

( Continued )

(3)

Define Gini coefficient.

faifa sTes wige fram |

What is social institution?

ST kg 62
Answer the following questions : 2x5=10
e PR e fir
(a) Write two characteristics of modern
economic growth.
4T wfeafss Rerm wor cafiiEy fora |
(b) What is steady state in Solow model of
economic growth?
v'a’3 iAo Rerr wde fafie sk &2
(c) Write two limitations of PQLI as a
measure of economic development.
s Tmee pe R4 PQLIE T
el S 341 |
( Turn Over )
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(4) Jal

(e} Discuss the concept of balanced

i tion on
(d). What is the effect of corrup regional development.

economic development?

o TS R oo B2 A SIEfF CHIT YIHEICH] ST 7 |
(e) What is vicious circle of poverty? (/) Explain the role of state institutions in
economic development.
wRTer e Jferc & 382
R AT TS IR W i
: o e 901
3. Answer any four of the following questions :
5x4=20
oo epre R e sifReE Tes
. 4. Answer any four of the followin i :
(a) Discuss how democracy and economic gquesuon?dx‘%“lo
growth are interlinked. ©F PR R e v T i
aqog  OrF AR WE G
TS, e I | (@) Explain SOIOW’S model of economic
e growth. What is the impact of technical
(b)) Write a Sho: no progress on steady state? 8+2=10
Development IndeX.
e B I oS b o B T YT e Rere wiftd wm w
e wmrs (e T oo R o

(c) Briefly explain the technique of Lorenz

curve to measure inequality. (b) Discuss the economic and non-

economic factors which infl
o @G @CN P . influence
<piTel TAAE 08 T2 : economic  development of an
T ZofT 40 | underdeveloped country. 5+5=10
G S (PR LA T 2 CoIeETl
. i f Harrod-Domer
(d) Write the assumptions 0 AT A oA SomeeTE
growth model. ST 1 |
(2 s- v TR R ST SSRPRR
c inued) A25/219 ( Turn Over )
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(c)

(d)

(e)

(9)

A25/219

(6)

Explain the various methods of
measuring poverty. Discuss how poverty
can be removed. 5+5=10

Raer T Fq [T ~=fSHR IM I
wRee! @M @ IR AR, 00 0

Write a note on inequality axioms.
Discuss the relationship between

inequality and economic development.
5+5=10

el FeRE RS «B1 R 1 S
S AT TR e I I

Explain the endogenous growth theory.
e Rerreg T 39 |

Explain the various  alternative
measures of economic development.

SefAfoe T RiSA Rew MopR 34 331 1

Discuss the international variation
among different measures of economic
development.

QAT T TP WEe WA 20K
[ T

( Continued )
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(7)

(h) Write short notes on the following :

5 BT forvy >rasio
() Determinants of democracy
ST e
(i) Knife-edge equilibrium
}R-43 SR
* & %
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